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  حل�معاد�ت�باستعمال�التعويض. 7

  

2حل�ا
عادلة�) 1( 13 36 0x x− + = .  

  :اعتمد�ع'ى�حل�ا
عادلة�السابقة�واستعمل�التعويض�لحل�كل�واحدة�من�ا
عاد�ت�التالية

7)2.  أ 1) 13(7 1) 36 0x x+ − + + =  

3)2. ب 1) 13(3 1) 36 0x x− − − + =  

)2. ج 1) 13( 1) 36 0x x− − − + =  

)2. د 1) 13( 1) 36 0x x+ − + + =  

4. هـ 213 36 0x x− + =  

. ز
4 2( 1) 13( 1) 36 0x x+ − + + =  

. ح
4 2(5 1) 13(5 1) 36 0x x+ − + + =  

4.  ط 2( 1) 13( 1) 36 0x x− − − + =  

. ي
2 4 2 2( 2 1) 13( 2 1) 36 0x x x x+ − − + − + =  

  

  :1من�سؤال�" ي"حل�فرع��

    
2 4 2 2( 2 1) 13( 2 1) 36 0x x x x+ − − + − + =  

: نعوض
22 )12( −+= xxt   

036132: تصبح�ا
عادلة� =+− tt  

  4=t  9  أو=t  ⇔  
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  4)12( 22 =−+ xx  12(9  أو( 22 =−+ xx    

⇔  
        

  2122 =−+ xx  
2122  أو −=−+ xx  

  

3122  أو =−+ xx  
3122  أو −=−+ xx  

  

⇔  
        

  0322 =−+ xx  
0122  أو =++ xx  

  

0422  أو =−+ xx  
0222  أو =++ xx  

  

          

  :نحل�كل�معادلة�ع'ى�حده�

0322 =−+⇔ xx  )1)(3( −+⇔ xx  1=x3أو���−=x  

0122 =++⇔ xx  
2)2( +⇔ x      1−=x   

0422 =−+⇔ xx  2

202 ±−=⇔ x
  51±−=x   

0222 =++ xxن��C��084يوجد�لها�حل�حقيقي� <−=∆  

}: جميع�حلول�ا
عادلة�Iي� }51,51,1,3,1 −−+−−−  

  

2ل�ا
عادلة�ح) 2( 10 9 0x x− + = .  

  :اعتمد�ع'ى�حل�ا
عادلة�السابقة�والتعويض�Cجل�حل�كل�واحدة�من�ا
عاد�ت�التالية

4)2.  أ 1) 10(4 1) 9 0x x+ − + + =  

2. ب 2 2( 1) 10( 1) 9 0x x x x+ + − + + + =  

2. ج 2 2( 2 3) 10( 2 ) 21 0x x x x− + − − − =  
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4. د 210 9 0x x− + =  

. هـ
4 2( 2) 10( 2) 9 0x x+ − + + =   

. و
4 2( 1) 10 20 1 0x x x+ − − − =  

. ز
4 2( 2) 10 40 31 0x x x− − + − =  

. ح
4 2( 3) 10 60 81 0x x x+ − − − =  

. ط
4 2(2 1) 40 40 1 0x x x+ − − − =  

. ي
4 2( 1) 10( 1) 9 0x x+ − + + =  

. ك
4( 2) 10 40 31 0x x x− − + − =  

. ل

4 2
2 1 2 1

10 9 0
4 4

x x

x x

+ +   − + =   − −   
  

09.  م
32

1
10

32

1 22

=+








+
+−









+
+

x

x

x

x
  

  

  :2فرع�ط�من�سؤال�حل�

4 2(2 1) 40 40 1 0x x x+ − − − =  

( )[ ]
09)12(10)12(

0111210)12(

01)44(10)12(

24

24

24

=++−+
=−−+−+

=−+−+

xx

xx

xxx

  

  نفرض�أن�  
2)12( += xt    



 76|  صفحة

 

  2011 

09102: نحصل�ع'ى�ا
عادلة =+− tt  ⇔  9=t1أو����=t  

9)12( 2 =+x  12(1  أو�( 2 =+x  

⇔  312 =+x312أو���� −=+x112أو���� =+x112أو���� −=+x    

⇔  1=x2أو������������−=x0أو������������=x1أو���������−=x    

}: مجموعة�الحل�Iي }1,0,1,2 −−  

  :2من�سؤال�" ي"حل�فرع�

4 2( 1) 10( 1) 9 0x x+ − + + =  

): نفرض��أن )2
1+= xt      

09102:  نحصل�ع'ى�ا
عادلة =+− tt  ⇔  9=t1 أو���=t  

9)1( 2 =+x  1(1  أو�( 2 =+x  

⇔  31 =+x31أو���� −=+x11أو���� =+x11أو���� −=+x    

⇔  2+=x      4أو������−=x0أو������������=x2أو���������−=x  

   x≤0لكل���x≤0  لكن�

  x=−2و��يتحقق��x=−4لذلك���يمكن�أن�يتحقق��

  x   ⇔  4=x=2لذلك��

        0=x  ⇔ 0=x  

}: مجموعة�الحل�Iي }4,0  
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  ).استعن�بالتعويض�ا
ناسب(حل�كل�واحدة�من�ا
عاد�ت�Vتية�) 3(

045.  أ 24 =+− xx  

045. ب 48 =+− xx  

)13(5)13(04.  ج 24 =++−+ xx  

04.  د�
23

7
5

23

7
2

=+








+
−−









+
−

x

x

x

x
  

).  هـ ) ( ) 0445545 222 =++−−+− xxxx  

.  و�

22 22 4 2 4
5 4 0

4 5 4 5

x x x x

x x

   + − + −− + =   + +   
  

  

 

 

 

 

 

 

 

 

 


